
https://www.leads4pass.com/c2090-919.html
2024 Latest leads4pass C2090-919 PDF and VCE dumps Download

 

 

 

C2090-919Q&As

Informix 11.70 System Administrator

Pass IBM C2090-919 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/c2090-919.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2090-919 PDF Dumps | C2090-919 VCE Dumps | C2090-919 Study Guide                                1 / 3

https://www.leads4pass.com/c2090-919.html
https://www.leads4pass.com/c2090-919.html
https://www.leads4pass.com/c2090-919.html


https://www.leads4pass.com/c2090-919.html
2024 Latest leads4pass C2090-919 PDF and VCE dumps Download

QUESTION 1

Which statement is true when creating a table through a Grid operation with the replication option enabled? 

A. A separate replicate set is created for each table. 

B. ERKEY shadow columns are automatically added to the table. 

C. The replication for the table is defined with the always apply conflict resolution rule. 

D. All servers in the Enterprise Replication domain are included as participants in the replicate created. 

Correct Answer: B 

 

QUESTION 2

On which node of an Informix H/A cluster can you execute an external backup without disturbing cluster operations? 

A. Primary 

B. Shared disk secondary 

C. Remote standalone secondary 

D. High-availability data replication secondary 

Correct Answer: C 

 

QUESTION 3

Which user isolation level may cause concurrency problems with SELECT statements? 

A. Dirty Read 

B. Committed Read 

C. Dirty Read Last Committed 

D. Committed Read Last Committed 

Correct Answer: B 

 

QUESTION 4

If SQLTRACE is enabled, what information is displayed by this statement? select max(sql_runtime) from syssqltrace; 

A. The SQL statement with the least wait time. 

B. The SQL statement with the least I/O wait time. 
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C. The SQL statement with the most I/O wait time. 

D. The SQL statement with the most execution time. 

Correct Answer: D 

 

QUESTION 5

Which would provide the greatest performance benefit in a warehousing environment? 

A. Indexes on searched data. 

B. Short checkpoint durations. 

C. Large number ofbufferpool buffers. 

D. Optimize decision support memory. 

Correct Answer: D 
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